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ENGLISH VERSION

Instructions : (1) The question paper contains five questions.
(2) Figures to right side indicate full marks
of the question.

(3) Calculations are required to be shown.

1 Out of the following options given for answer; choose a 20
correct and proper answer.
(1) Dr. Rooju Ltd.’s sales Rs. 50,000 and contribution
Rs. 20,000. The profit volume ratio would be :
A) 40%
B) 50%
C) 60%
(D) None of these
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(2) Out of the following functions, which does not consider
as the function of Financial Accounting ?
(A) Calculation of per unit and total amount of cost
(B) Recording economic transactions
(C) Classifying transactions
(D) Preparing Final Accounts
(3) To whom Management Accountancy is most beneficial ?
(A) Creditors
(B) Managerials
(C) Shareholders
(D) Investors
(4) Writing-off goodwill against capital reserve results in
(A) Source of fund
(B) Application of fund
(C) None of (A) and (B) shown above
(D) Both (A) and (B) shown above

(®) If stock turnover is 5 (five) times, opening stock is Rs. 10,000
less than the closing stock and average stock is Rs. 40,000.
Find out purchases.

(A) Rs. 2,00,000
B) Rs. 1,35,000
(C) Rs. 2,40,000

D) Rs. 2,10,000
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©6)

()

@)

©)

(10)

If Debtor’s ratio is decreased from 105 days to 97 days; which
situation it is to be ?

(A) Satisfactory

(B) It indicates improvement
(C) Worst

(D) Very good

Management Accounting is specially emphasized on

(A) Future

(B) Past

(C) Experience

(D) Decision

When Net working capital decreases
(A) Fund 1s applied

(B) Fund 1s generated

(C) Both (A) and (B) above occurs
(D) None of the above

Which of the following tools and techniques are not used by
Management Accountancy ?

(A) Standard costing

(B) Marginal costing

(C) Operating costing

(D) Budgetary control

From the following which ratio is not profitability ratio ?
(A) Operating ratio

(B) Expense ratio

(C) Rate of earning per share

(D) Proprietary ratio
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(11) When total contribution equals to total fixed expenses that
level 1s known as :

(A) Profit making level
(B) Optimum level

(C) Break-even level
(D) Ideal level

(12) Total cost per unit is Rs. 12 which includes 40% fixed
expenses. The company may receive an export order at

Rs. 7.50 per unit. What will be the contribution per unit for
this offer ?

(A) Rs. 0.30
(B) Rs. 4.80
(C) Rs. 4.50
(D) Rs. Zero

(13) A company can yield profit of Rs. 10,000 by using existing
machine which has realization value of Rs. 20,000 at present.
If new machine of worth Rs. 60,000 is installed in place of
old one; profit would be earned Rs. 16,500.

What would be the Rate of Return on newly invested capital ?
(A) 10.83%

B) 16.25%
©) 27.50%
D) 25%

(14) As per profit and loss account net profit of business is
Rs. 5,500 and depreciation debited to P&L a/c. is Rs. 1,500
and preliminary expenses is Rs. 1,000. Hence the fund
generated from profit is :

(A) Rs. 5,500
B) Rs. 3,000
(C) Rs. 8,000
D) Rs. 7,000
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(15) Which of the following items is not a source of funds ?
(A) Earning operating profit
(B) Sales of Fixed Assets
(C) Borrowing or incurring any liability
(D) Repayment of debentures or loans

(16) Profit before Interest and Tax Rs. 1,00,000. Interest
Rs. 20,000 and preference dividend Rs. 30,000 and rate of

taxation @ 50%. How much would be the amount of taxation ?
(A) None of the below
B) Rs. 50,000
(C) Rs. 25,000
D) Rs. 40,000

(17) Which of the following formula is false to find out the profit ?
(A) Profit = Sales — Variable Cost

(B) Profit = Margin of safety x P.V. Ratio

(C) Profit = Sales — (Fixed Cost + Variable Cost)

(D) Profit = Contribution — Fixed cost.

(18) Selling price per unit is Rs. 10 and variable cost is Rs. 6.
At present company is having an idle (unused) capacity of
manufacturing 4,000 units. The company can receive an
export order for this quantity from the following offer prices.

Which offer price will decrease the present profit ?
(A) Rs. 7.00
(B) Rs. 5.90
(C) Rs. 8.00

D) Rs. 6.25
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(19) Average stock is Rs. 3,20,000. If opening stock is Rs. 4,00,000.
Thus, find out closing stock.
(A) Rs. 7,20,000
B) Rs. 3,60,000
(C) Rs. 2,40,000
D) Rs. 1,20,000

(20) Which of the following matter is not relevant to differential
costing ?

(A) Itis a technique of taking various managerial decision.
(B) Helpful in “Make” or “Buy” decision
(C) Differential cost and Marginal cost are different.

(D) Differential cost and Marginal cost are synonymous.

2  Balance sheets of Ghantakarna Mahavir Limited as on 15
31.3.2013 and 31.3.2014 are as under :
Liabilities 31.3.2013  31.3.2014 Assets 31.3.2013 31.3.2014
Share Capital 12,00,000 20,00,000 Fixed Assets 18,00,000  24,00,000
Capital Reserve - 1,00,000 Investments 4,00,000 3,00,000
General Reserve 8,00,000 5,00,000 Current Assets 7,00,000 8,40,000
P&L Account 2,40,000 3,60,000 Preliminary expenses 1,00,000 60,000

12% Debentures 4,00,000 2,00,000
Creditors 1,00,000 1,00,000
Bills Payable 40,000 80,000
Provision for Tax 2,20,000 2,60,000

30,00,000  36,00,000 30,00,000  36,00,000

Additional Information :
(1) One Bonus share per two equity shares was issued

from General Reserve as on 01.07.2013.

(2) Rs. 2,40,000 as Income tax and Rs. 3,00,000 as

dividend were paid during the year.
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3)

The company had sold 50% of fixed assets in the

beginning of the year and credited that profit to Capital

Reserve Account.

4)

for Rs. 1,00,000 during the year.

(5)
Fixed Assets.

The company sold the investments of Rs. 2,00,000

Rs. 2,00,000 were written-off as depreciation on the

Prepare the statement of sources and application of

funds. Show necessary calculations.

OR
2  Following are the balance sheets of Dr. Rushi Limited 15
for the year 2013 and 2014.

Liabilities 2013 2014 Assets 2013 2014
Equity share capital Goodwill 1,00,000 80,000
fully paid shares of Machinery 3,560,000 4,50,000
Rs 10 each 3,00,000 5,00,000 L & B 3,00,000 2,70,000
General Reserve 1,560,000 1,00,000 Investments 80,000 75,000
P&IL. Account 1,48,000 1,38,000 Stock 40,000 80,000
9% Debentures 1,00,000 1,40,000 Cash balance 40,000
Creditors 80,000 60,000 Debtors 75,000 90,000
Bills payable 75,000 95,000 B/R 15,000 20,000
Unpaid Exp. 10,000 5,000 Preliminary exp. 18,000 12,000
Provision for Tax 60,000 80,000 Discount on Debenture 1,000
Bank Overdraft 55,000

9,78,000 11,18,000 9,78,000 11,18,000

Additional Information :

ey

On 01.01.2014 company had given one bonus share

against three equity shares held. Provision for that

was done from General Reserve.

)

During the year, tax and dividend were paid

Rs. 55,000 and Rs. 54,000 respectively.
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(3) New debentures were issued @ 5% discount during

the year.

4) Investments of Rs. 20,000 cost were sold at such a

price so as to realize 20% profit on selling price.
(5) Depreciation written off during the year were :

(@) On Machinery : Rs. 35,000

() On L&B : Rs. 30,000

(6) Machinery having a book value of Rs. 50,000 was
sold at 20% loss during the year.

Prepare a statement showing changes in working capital;

necessary accounts and the Fund Flow Statement.

3  Following is the balance sheet as on 31.3.2013 and 15

other information of Varsha Limited.

(A) Sources of Fund : Amount (Rs.)
Share Capital 4,00,000
Reserve and Profit 1,38,000
Shareholders Fund 5,38,000
Debentures (10%) 1,00,000
Bank Loan (10%) 1,00,000
Capital employed 7,38,000
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(B) Application of Fund Rs.
Fixed Assets Less Depreciation 3,00,000

Current Assets :

Debtors 82,000

Stock 3,18,000
Bank/Cash 1,00,000

B/R. 68,000 5,68,000

Less :
Current Liabilities

Creditors 1,00,000

B/P. 20,000

Tax Provision 10,000 1,30,000

Net Working Capital 4,38,000 4,38,000
Total Application of Fund W

Moreover other information :
Purchases Rs. 3,65,000
Sales Rs. 5,00,000

Net Profit Rs. 1,00,000 (after interest and taxes)

Find out following ratio and discuss with criticism

company’s position on the basis of industries ideal ratio :
(1) Net profit ratio : (15%)

(2) Proprietary ratio (85%)
(On the basis of fixed assets)

(3) Return on capital employed (10%)
(4) Debtors ratio (90 days)
(5) Creditors ratio (100 days)

OR
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3  Following is the balance sheet and other information of 15

Gopi and Devangi Limited.

Balance Sheet as on 31.3.2014

Liabilities Amount (Rs.) Assets Amount (Rs.)
Capital : Gopi 75,000 Buildings 1,00,000
+ Profit 22,500 97,500 Land 45,000
Capital: Devangi 75,000 Investments 10,000
+ Profit 22,500 97,500 Goods Stock 68,000
Reserve Fund 15,000 Debtors 67,000
Insurance Fund 10,000 Bank balance 22,500

Bank Loan 25,000

Creditors 56,000

Bank Overdraft 11,500
3,12,500 3,12,500

Additional Information :

(1) Sales (on credit) ........eeevviennnnnnn. Rs. 3,60,000
(2) Opening StocKk........cccooovviiiiiiineeee.... Rs. 50,000
(3) Purchases on Credit ..................... Rs. 2,88,000
4) Closing stocK ......cccceeeviiiiiiiiiiiniaeen.... Rs. 68,000
B) Admi. EXp. oo Rs. 20,000
6) Selling exp. ...ooovvvveeeeeeiiiiiii Rs. 21,000
(7) Int. on Bank Loan ............................ Rs. 4,000
Calculate and criticize the following ratios from the above
information.
(1) Net Profit Ratio : (10%)
(2) Stock Turnover : (5)
(3) Rate of Return on Capital employed : (20%)
(4) Debtors ratio : (45 days) (Days of year 360)
(®) Creditors ratio : (50 days) (Days of year 360)
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Following information is avaiable for two products of

MMG Company Limited.

Particulars “A”
Materials (per kg Rs. 2.00) 10
Labour (Rate per hour Rs. 1.00) 2

Machine Hours

(Rate per hour Rs. 2.00) 4

Selling Price (Rs.) 30

Total fixed Expenses Rs. 50,000

Depending on abovesaid information :

(1) When material is the key factor

(2) When direct lasbour is scare and

(3) When machine hours are limited

Which product’s production would be profitable ?
OR

“B”

25

Installed production capacity of Kick and Singham

10

Limited is of 1,50,000 units. For the year 2013 following

information is available for the sale in Indian Markets :

Units sold oo, 1,00,000 units
Selling price per unit ...........cccceeeeeeeeennnn. Rs. 5.00
Fixed cost : Manufacturing ......... (Rs.) 1,50,000

Selling .......ccccceeeeeiii. (Rs.) 30,000

Variable Cost :
Manufacturing (Rs.) .. 2.60 per unit

Selling (Rs.)................ 0.46 per unit
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Company is in a position to get an export order for remaining
capacity of 50,000 units at an offer price of Rs. 4.25 per unit.
The company incurs export expense of Rs. 0.42 per unit and
fixed manufacturing exp. would be Rs. 1,60,000 and fixed
selling exp. would be Rs. 36,000 if company operates at 100%

level.

Prepare a statement showing that the company would accept

or not to accept the export order at a price of Rs. 4.25.

5 I.I.M. Limited maufactures and sells plastic chairs. 10

Following particulars are available for the year 2013.

Particulars Amount (Rs.)
Direct Materials ........cooeieemeiieiaeiiaeeennnn. 1,50,000
Direct Labour ......co.ooveemeieiaeieieeeieeeeennn. 3,00,000
Fixed Overheads .......cccoovvmiiiiiiiiiaeie. 1,50,000
Variable Overhdads .......cc.cooovveiiiieiieaiean.. 75,000
Production (n units) ..........cccoeeeviiiineenennnn. 30,000
Selling price per unit ............ccccceeeene..... Rs. 30.00
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Additional Information:

Annual manufacturing capacity is 50,000 chairs. The
company receives an offer to purchase 12,500 chairs at
Rs. 25 per chair. If company accepts this offer than there
will be reduction of Rs. 1.00 per unit in cost of direct
materials for entire production and labour efficiency will
be increased by 2%. Fixed overheads will increase by

Rs. 68,750.

Prepare a report by presenting your recommendations
before the management to accept or not to accept an
abovesaid offer.
OR
5 Write notes on : (any two) 10
(1) Role of Management Accountant
(2) Importance of Marginal Costing
3) Utility of Fund Flow Statement
(4) Differences between Marginal Costing and Differential
Costing
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